do /dp_ [mu b/MeV]

Ratio to LHCB

=
o

T

107t

1072

0.5

7000
T T ]

Gevpp_

ISolft QCD

PT(9) (2.44 <y < 4.06) |

L 1| ||||||
Rivet 3.1.10, = 2.8M events

EL =)
— B, B =5
— . B e
L N 1o
B & 13
B ) |z
m LHCB ~ 2
— --O-- Herwig++ 2.7.1 default “\\::%L\:\ - —c
= hh Herwig 7.2.1 default . - ;’
— —a— Pythia 8.308 default T 13
B )
- 19
o
(&)
ST T U DD D=
— -2
1

— N —0.5

1 L 1 L | @ 1 L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L |

1000 2000 3000 4000 5000

p_Fr’hi [MeV]



	Contents
	Page 1


